D 2 —6x+9

® x2+12x+ 36 @ 422 + 16x + 16

® @)2x2
x4 day + 47 @22 + a3y +25°

@ 2x2
+4xy + 42 =
y2 = x% + 4xy + 4y? + x*

= (x4 2y)2 + »2




¥ -2x+1=(x-1)2




3.

o
0,

1502 — 1492 = 150 + 149 S AYsl=¢ = Q
A=H?

® a* +2ab + b = (a + b)?
@ a*-2ab+ b* = (a-b)?
@)a?-1? = (a+b)(a-b)
@ x>+ (a+b)x+ab=(x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)

1502 — 1492 = (150 + 149)(150 — 149) = 150 + 149
wehA o] 8H T2 a2 - b? = (a+b)(a-b)




A}

[e3

b

a o & 75t

-5+a=-4+3a




5.

X2 - 6x+8 T} 352 - Tx 4+ 2 9] T A5E Fotolet.
=§

>
> Heb: x-2

oH =

¥ —6x+8=(x-4)(x-2)
3x2—Tx+2=(3x-1)(x-2)

57 AL
T ApE s x-2




6. 3x*+ (3a+16)x -6 1ol SHA (x+b)(3x—2) 7}t o] o,
A a+b o 22

@ -3 @ -1 @0 @ 2 ® 3

B ~
(x+b)(3x—2) =3x*> + (-2 + 3b)x - 2b °| B2

3x% + (=2 +3b)x — 2b = 3x* + (3a + 16)x — 6

—2b=-6, .b=3

-2+3b=3a+16, ..a=-3

La+b=0




(3x-2)* = (2x+3)° = (Ax+ 1) (x+ B) & W, A+ B 9] & 73}
ot

> E

> Het A+B=0

B

3x—2=X, 2x+3=YZ 23IH
(3x—2)2 - (2x+3)2

=X2-Y? = (X+Y)(X-Y)

= (5x+1)(x-5)

. A=5 B=-5

s A+ B=0o]Jt}




8.  (r4+y)(x+y-1)-202 HlEA] A%Be g AL

@ +y-5)x+y+4) @ (x+y-4)(x+y+5)
® (x+y-5)(x+y-—4) @ (x-y-4)(x—y+5)
® (x-y-5)(x-y+4)

B

x+y=A 2l s}
(x+y)(x+y-1)-20
=A(A-1)-20
=A2-A-20

= (A-5)(A+4)

= (x+y-5)(x+y+4)




9. ¥ -9°+4x+12y 5 ASFESNGHH (Ax+ By) (Cx+ Dy +4) 7}
HhT A} A+ B+ C + D 9] gk Fatolet

> E:

> ™Heh: 2

(FA1) = (x—3y) (x+ 3y) + 4 (x + 3y)
= (x+3y) (x-3y+4)
CA+B+CAD—=143+1-3=2




10.

© dr13 @4x ® 4x-13
@ 2x*>-13 B 242 +5

X~ 1822 4 36= (x2 = 9)(x" ~4)
=(x+3)(x-3)(x+2)(x-2)
- (PR ASE )

—x+34+x—-3+x+2+x—2=4x




